Algebra 2 – Review Sec. 4.1 Quiz
1. Find the domain and zeros for the following functions.

a) f(x) = x3 + 3x2 – 70x


b) f(x) = 


c) f(x) = 


d) f(x) = 2x2 + 11x – 6


e) f(x) = |x – 4| 



2. Find the equation of the following piecewise function.  Also find the domain, range, and zeros.
[image: http://www.uiowa.edu/~examserv/mathmatters/tutorial_quiz/geometry/piecewisefunctions_clip_image010.gif]














3. 
Evaluate the following piecewise function at the given values.  Then graph the piecewise function and find the domain, range, and zero(s) if any exist.
	


Domain:

Range:

Zeros:
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2.
	Find f(1)     f(-2)    f(0)





                                                                               Find f(4)     f(-2)    f(0)
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Graph the piecewise functions. Then find the domain, range, and zeros.

-3, —4<x<0
3 f(X):{x271 x>0

3x —4, x<0
b) g(x):{xhr?, x=0
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3. In a certain country, income tax is assessed by using the function below, where f{x)is
the percentage of the income that must be paid as tax, and xis the amount of income.

0 if x < $15,000
fx)={12% if $15,000 < x < $30,000
18% if x> $30,000
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. If your income is $28,000, what amount of tax will you pay?
. If your income is $14,500, what amount of tax will you pay?

Your income last year was $25,000 and your friend’s income was $32,000. How
much more did your friend pay in taxes than you?
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4,5  Write equations for the piecewise functions whose graphs are shown below. Assume that the unts.
are | for every tick mark.
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2x+4,x22
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1. Find the domain and zeros of the following:

a) flx)=22

2243
b) f(x)=vx+5-2

0 f(x)=x+ 3 —3x—9




